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» UHIM Ol I 0| & : Makefile, makefile
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make 413K

S make [—-f makeFileName]
> 7} Q= A2 default file O| &
» default file : Makefile, makefile

> Makefilel} makefileO| £ 0| /= 8%
MakefileO| &M



Of| Xl #1 (1)

» L2t 22 47|12 mtL(test.h, main.c, test1.c, test2.c) A M

/* file - test.h */ /* file - testl.c */

vold testl (void) ; vold testl (void)
vold test2 (void); {

}

/* file — main.c */

/* file - test2.c */

#include <stdio.h>

#include “test.h” . :
int main () volid test2(void)

{ {
testl () ;
test2 () ; }
printf (“Hi !'\n”);
return 0O;




Ol x| #1 (2)

g ZTHUBHE A2
$ gcc -¢ main.c
$ gec -ctestl.c
$ gec -c test2.c

$ gcc -o test main.o test1.o0 test2.0
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> Makefile 2FHM
$ vi Makefile

test : main.o testl.o test2.o
gcc -o test main.o testl.o test2.o
main.o : test.h main.c
gcc —-c main.c
testl.o : test.h testl.c
gcc —-c testl.c
test2.0: test.h test2.c
gcc —-c testZ.c
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$ make

gcc -¢ main.c
gcc -c test1.c
gcc -c test2.c

gcc -o test main.o test1.o0 test2.0
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> test2.c =™
$ vi test2.c

/* file - test2.c */
#include <stdio.h>
volid test2 (void)

{
}

printf (“test2\n”) ;

» make Al (test2.cBF ChA| HIU L 0 Aol I A

$ make

gcc -c test2.c
gcc -o test main.o test1.o test2.0

» [Tip] touch : I} YO IR} Z4Al
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> Makefile A M
$ vi Makefile

OBJECTS = main.o testl.o test2.o0

test : S (OBJECTS)
gcc -o test $(OBJECTS)
main.o : test.h main.c

gcc —-c main.c
testl.o : test.h testl.c

gcc —-c testl.c
testZ2.0: test.h test2.c

gcc —-c test2.c

$ make
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>  Makefile A M
$ vi Makefile

OBJECTS = main.o testl.o test2.o

test : $(OBJECTS)

gcc -o test $(OBJECTS)
main.o : test.h main.c

gcc —-Cc main.c
testl.o : test.h testl.c

gcc —-c testl.c
test2.0: test.h testZ.c

gcc —-c test2.c
clean

rm $ (OBJECTS)

$ make clean
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CC = gcc
CFLAGS
SRCS
OBJS
LIBS
LIBDIRS

# C Compiler

# obj L=
# library 1L
# library 1L

f

—_—



Off x| #4 D3 = == O] &

>  Makefile A M
$ vi Makefile

OBJECTS = main.o testl.o testZ.o
SRCS = main.c testl.c test2.c

CC = gcc

CEFLAGS = -g

TARGET = test

S (TARGET) : $(OBJECTS)
S(CC) -o S (TARGET) $ (OBJECTS)
main.o : test.h main.c
testl.o : test.h testl.c
test2.0: test.h test2.c

$ make



Ol| K| #5 Implicit rule

» Makefile A A
$ vi Makefile

@0 ¢
gcc —-o $* S$<

clean :
rm *.o $S@

> $< X|O| ZH OfYECHE X220 dAlE oY Ol &
> $* 2RV QleE AN =& I (Target)
> $@ : CXje| B H 1Y (Target)

» $ make main.o



Ol| K| #6 Multiple Target

>  Makefile A M
$ vi Makefile
.SUFFIXES
= gcc
CFLAGS =

OBJS1 = main.o testl.o
OBJS2 = main.o test2.o0
SRCS = $(OBJS1l:.o0=.c) $S(OBJS2:.0=.cC)
all : testl test?2
testl : $(OBJS1)
S(CC) -o testl $(OBJS1)

test2 : $(OBJS2)
S(CC) -o test2 $(OBJS2)

$ make all
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